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<|QHWLP�.DGURVX

+D\UHWWLQ� d$<&, *HQHO�0�G�U � 0HWDO�UML�<�NVHN�0�KHQGLVL

'R÷DQ�d$.,5 *HQHO�0�G�U�<DUGÕPFÕVÕ��øo�7LFDUHW� � 0HWDO�UML�<�NVHN�0�KHQGLVL

6HYJ�U�$56/$13$< *HQHO�0�G�U�<DUGÕPFÕVÕ��7HNQLN� � .LP\D�0�KHQGLVL

(UKDQ�$.%$ù %LOJL�øúOHP�0�G�U� � 6LVWHP�$QDOLVWL

6DEUL�$7ø//$ øGDUL�øúOHU�0�G�U� � øúOHWPHFL

0XUDW�$<0$1 <DUGÕPFÕ�øúOHWPHOHU�0�G�U��*HPL�0DNLQDODUÕ�øúOHWPH�0�KHQGLVL

gPHU�&$1,%(<$= 6DWÕQDOPD�0�G�U��±0DNLQH�0�KHQGLVL

0XUDW�'2ö$1d$ øo�3D]DUODPD�0�G�U� � (OHNWULN�0�KHQGLVL

7ROJD�('ø= .RQWLQ��'|N�POHU�0�G�U� � 0HWDO�UML�0�KHQGLVL

2÷X]�(5*h1*g5 øQVDQ�.D\QDNODUÕ�0�G�U� � (NRQRPLVW

'LOHN�0LQH�*ø1ø øWKDODW�0�G�U� � øúOHWPHFL

(PLQH�*h1'$ö 7LFDUL�0XKDVHEH�0�G�U� � øúOHWPHFL��6�0�0�0��

6HOoXN�+$5387 $U�*H�0�G�U� �0HWDO�UML�0�KHQGLVL

ù�NU��.$5$d 1LKDL�hU�QOHU�0�G�U� � 0DNLQH�0�KHQGLVL

)DUXN�ùHNLS�.$5ù$1%$ù (QG�VWUL\HO�2WRPDV\RQ�YH�(OHNWURQLN�%DNÕP�0�G�U��± (OHNWURQLN�
YH�+DEHUOHúPH�0�KHQGLVL

0HU\HP�.$<$ øKUDFDW�8\JXODPD�0�G�U� � øúOHWPHFL

øOKDQ�.2&$0$1 .DOLWH�*�YHQFH�0�G�U� � 0HWDO�UML�0�KHQGLVL

/HYHQW�ùDNLU�.8/$d 5DILQDV\RQ�0�G�U� � 0HWDO�UML�0�KHQGLVL

)LOL]�7(.ø1�6$/0$1/, hUHWLP�YH�0DO]HPH�3ODQODPD�0�G�U��� (QG�VWUL�0�KHQGLVL

1H]LK�6h50(/ø 6DWÕú�0�G�U� � 0DNLQH�0�KHQGLVL

)HUKDQ�7851$*ø/ 0DOL\HW�0XKDVHEH�0�G�U� � øúOHWPHFL��6�0�0�0��

gPHU�0�QFL�h1$/ %RUX�øúOHWPH�0�G�U� �0DNLQH�0�KHQGLVL

$\úH�<$98= (QG�VWUL�0�KHQGLVOL÷L�0�G�U� � (QG�VWUL�0�KHQGLVL
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6HUPD\H�<DSÕVÕ

���� IDDOL\HWOHULPL]OH�LOJLOL�RODUDN����������� WDULKLQGH�(PHN�0DKDOOHVL�$úÕUR÷OX�&DGGHVL�1R�����
'DUÕFD�.RFDHOL�DGUHVLQGHNL�*HQHO�0�G�UO�N�ELQDPÕ]ÕQ�WRSODQWÕ�6DORQXQGD�\DSÕODQ ROD÷DQ�JHQHO�NXUXO�
WRSODQWÕPÕ]D�DLW�J�QGHP�PDGGHOHUL�LOH�LOJLOL�NDUDUODU����������� WDULKLQGH�|]HO�GXUXP�DoÕNODPDVÕ�LOH�
GX\XUXOPXúWXU�

6HUPD\HPL]LQ�����¶��KDOND�DoÕN�ROXS����������� WDULKL�LWLEDUL\OH�<|QHWLP�.XUXOX��\HOHULPL]LQ�
VHUPD\HPL]GHNL�SD\ODUÕ�+D\UHWWLQ�d$<&,��������$��+DPGL�%(.7$ù��������$\NXW�0(1(7/ø2ö/8�
������¶GÕU��'L÷HU�<|QHWLP�.XUXOX��\HOHULPL]LQ�VHUPD\HPL]GHNL�SD\ODUÕ�EX�RUDQODUÕQ�DOWÕQGDGÕU�

6HUPD\H�3L\DVDVÕ�.XUXOX��63.�¶QXQ������������YH������������WDULKOL KDIWDOÕN�E�OWHQOHULQGH�\D\ÕQODQDQ�
NXUXO�NDUDUODUÕQD�J|UH�øVWDQEXO�0HQNXO�.Õ\PHWOHU�%RUVDVÕ�ø0.%��KLVVH�VHQHWOHUL�SL\DVDVÕQGD�LúOHP�J|UHQ�
úLUNHWOHUH�LOLúNLQ�ILLOL�GRODúÕPGDNL�SD\�RUDQÕ�NDYUDPÕ�\HQLGHQ�G�]HQOHQPLúWLU��<HQL�G�]HQOHPH\H�J|UH�
úLUNHWOHULQ�\|QHWLP�YH�GHQHWLP�NXUXOX��\HOHULQLQ�SD\ODUÕ�LOH�VHUPD\HQLQ���¶LQGHQ�ID]ODVÕQD�VDKLS�
RUWDNODUÕQ�SD\ODUÕQÕQ�WRSODPÕ�ILLOL�GRODúÕP�RUDQÕQD�GDKLO�HGLOPH\HFHNWLU��%X�NULWHUOHUH�J|UH�����������
WDULKLQGH�úLUNHWLPL]LQ�ILLOL�GRODúÕPGDNL�KLVVH�RUDQÕ�������¶GLU��

���������� WDULKL�LWLEDUL\OH�KLVVH�VHQHWOHULPL]LQ�ø0.%¶GDNL�NDSDQÕú�IL\DWÕ����� 7/�LNHQ��|QFHNL�G|QHPH�
J|UH������� DUWDUDN����������� WDULKLQGH����� 7/�ROPXúWXU�

øúWLUDNOHU�YH %D÷OÕ�2UWDNOÕNODU

'HPLVDú�'|N�P�(PD\H�0DPXOOHUL�6DQD\L $�ù�

�����\ÕOÕQGD�NXUXODQ 'HPLVDú�$�ù�¶QLQ�IDEULNDVÕ�%LOHFLN¶WH�EXOXQPDNWDGÕU��'|N�P�WHVLVOHULQGH��NXSRO�
RFD÷Õ�YH�HQG�NVL\RQ�RFDNODUÕQGD�HUJLWPH�YH�WDPDPHQ�ELOJLVD\DU�NRQWUROO����DGHW�'LVDPDWLF�RWRPDWLN�
NDOÕSODPD�KDWWÕQGD��UHWLP�\DSÕOPDNWDGÕU��%H\D]�Hú\D�HQG�VWULVL�LoLQ��KHUPHWLN�SLVWRQOX�NRPSUHV|U�
SDUoDODUÕ��VFUROO�NRPSUHV|U�SDUoDODUÕ��RWRPRWLY�HQG�VWULVL�LoLQ���VIHUR�YH�JUL G|N�P��IUHQ�GLVNOHUL��KDYDOÕ�
IUHQ�GLVNOHUL��IUHQ�NDPSDQDODUÕ��YRODQODU��HJ]RVW�PDQLIROGODUÕ��NDVQDNODU��IUHQ�VLOLQGLUOHUL��oHúLWOL�EUDNHWOHU�
YH�SDUoDODUÕ��IUHQ�HPQL\HW�SDUoDODUÕ��UHWPHNWHGLU��6R÷XWPD�VHNW|U�QH�\|QHOLN�RODUDN�NXOODQÕODQ�
NRPSUHV|U��UHWLPLQGH�'�Q\D
QÕQ�|QHPOL�WHGDULNoLOHUL�DUDVÕQGD�EXOXQPDNWDGÕU� <ÕOOÕN��UHWLP�NDSDVLWHVL�
�������WRQGXU�������������LWLEDUL�LOH��UHWLPLQLQ���� FLYDUÕQGDNL�E|O�P��EDúWD %DWÕ�$YUXSD��ONHOHUL�
ROPDN��]HUH��\XUW�GÕúÕQD�LKUDo�HGLOPHNWHGLU��+LVVH�VHQHWOHUL�ø0.%¶�GH�WHGDY�OGH�RODQ�LúWLUDNLPL]LQ�ND\ÕWOÕ�
VHUPD\H�WDYDQÕ������������� 7/�ROXS�VHUPD\HVL�������������¶ 7/�GLU�'HPLVDú¶D �������RUDQÕQGD�
LúWLUDNLPL]�YDUGÕU�

6DUGD�'D÷ÕWÕP YH�7LFDUHW $�ù�

�����\ÕOÕQGD�øVWDQEXO¶GD�NXUXOPXú�ROXS��ùLUNHWLPL]��U�QOHULQLQ�WDQÕWPD�YH�SD]DUODPD�IDDOL\HWOHULQLQ�ELU�
NÕVPÕQÕ�JHUoHNOHúWLUPHNWHGLU��$\UÕFD�LúWLJDO�NRQXVXQD�X\JXQ��U�QOHULQ�LKUDFDW��LWKDODW�YH�GD÷ÕWÕPÕQÕ�
\DSPDNWDGÕU��+HU�\ÕO�HOGH�HWWL÷LEDúDUÕOÕ�QHWLFHOHUL�LOH�6DUNX\VDQ¶D�ROXPOX�NDWNÕ�VD÷ODPDNWDGÕU� 6HUPD\HVL�
����������� 7/�RODQ�6DUGD¶�\D��������RUDQÕQGD�RUWDNOÕ÷ÕPÕ]�EXOXQPDNWDGÕU�
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6DUPDNLQD 6DQD\L YH�7LFDUHW $�ù�

6DUPDNLQD��WHO�YH�NDEOR�VDQD\L�LoLQ�oHOLN�PDNDUD�YH�WDPDPOD\ÕFÕ�|]HO�PDNLQH��UHWLPLQL�EDúDUÕ�LOH�
V�UG�UPHNWH��KHP�\XUW�LoLQGH�KHP�GH�\XUW�GÕúÕQGD�|QGH�JHOHQ�WHO�YH�NDEOR��UHWLFLOHULQH�EX��U�QOHULQL�
SD]DUODPDNWDGÕU� $\UÕFD�HOHNWURPHNDQLN�VDQD\L�LoLQ�EDNÕU�WHO�ND÷ÕW�NDSODPD��EDNÕU�YH�DO�PLQ\XPGDQ�
�UHWLOPLú�EDU�LPDODWODUÕ�LOH�GL÷HU�VHNW|UOHUH�\|QHOLN�SURMH��LPDODW��WDúHURQOXN��WDDKK�W�YH�PXKWHOLI�oHOLN�
NRQVWU�NVL\RQ�LúOHUL�\DSPDNWDGÕU� 6HUPD\HVL������������ 7/�RODQ�6DUPDNLQD¶�\D�� ���RUDQÕQGD�
RUWDNOÕ÷ÕPÕ]�EXOXQPDNWDGÕU�

%HNWDú�(PD\H�.DEOR�6DQD\L YH�7LFDUHW $�ù�

�����\ÕOÕQGD��UHWLP�IDDOL\HWLQL�GXUGXUDQ�%HNWDú�$�ù��������\ÕOÕQGD�(PVDQ�$�ù���.DYL�$�ù��YH�%RWHO�$�ù��
LOH�ELU�DUD\D�JHOHUHN�úX�DQGD�VHUPD\HVL������������� 7/�RODQ�%HPND�(PD\H�%RELQ�7HOL�YH�.DEOR�6DQD\L�
7LFDUHW�$�ù�¶QL�NXUPXúODUGÕU��7�UNL\H¶QLQ�HQ�E�\�N�(PD\H�7HO�7HVLVLQH VDKLS�%HPND�$�ù��oRN�NÕVD�ELU�
]DPDQ�LoLQGH�IDDOL\HWH�JHoHUHN�JHUHN�\XUW�LoL�JHUHNVH�\XUW�GÕúÕ�SL\DVDODUGD�NDOLWH��VW�QO�÷��YH�HWNLQ�SD]DU�
SROLWLNDVÕ�LOH��U�QOHULQH�WDOHS�SRWDQVL\HOLQL�GHYDPOÕ�\�NVHOWPLúWLU��%HNWDú�$�ù�¶QLQ��%HPND�$�ù�¶\H�RODQ�
LúWLUDN�KLVVHVL�����RUDQÕQGDGÕU� 6HUPD\HVL������������ 7/�RODQ�%HNWDú¶�D��������RUDQÕQGD�RUWDNOÕ÷ÕPÕ]�
EXOXQPDNWDGÕU�

6DUN�� 86$��,QF�

ùLUNHWLPL]LQ��U�QOHULQL�$PHULND¶GD�GLUHNW�RODUDN�SD]DUODPD�DPDFÕ\OD�NXUXOPXúWXU��6HUPD\HVL�
�����������RODQ�6DUN�8VD¶�LQ�����¶���ùLUNHWLPL]H�DLWWLU��

6DUN�:LUH�&RUSRUDWLRQ

$�%�'�¶QLQ�1HZ�<RUN�H\DOHWL $OEDQ\�úHKULQGH NXUXOX�RODQ�³6DUN�:LUH�&RUSRUDWLRQ �́GD�KHU�W�UO��NDWPD�
GH÷HUL�\�NVHN�HOHNWUROLWLN�EDNÕU�WHO�YH�HOHNWUROLWLN�EDNÕU�WHOGHQ��UHWLOPLú�GL÷HU��U�QOHULQ��UHWLOHELOPHVL�LoLQ�
HQ VRQ�WHNQRORML\OH�GRQDWÕOPÕú�PDNLQH�YH�WHVLVOHULQ�PRQWDMÕ�WDPDPODQDUDN������\ÕOÕQÕQ�VRQ�D\ODUÕQGD�
GHYUH\H�DOÕQPÕúWÕU�������\ÕOÕQGD�6DUN�:LUH�úLUNHWL��JHOGL÷L�NDOLWH�VHYL\HVL�LOH�$%'�SD]DUÕQGD���U�QOHUL�
DUDQDQ�úLUNHWOHULQ�DUDVÕQD�JLUPLúWLU��ùLUNHWLQ W�P�IDDOL\HWOHUL��VDKLS�ROGX÷X�,62������.DOLWH�<|QHWLP�
6LVWHP�6WDQGDUGÕ�%HOJHVL¶QLQ�JHUHNOHULQH�X\JXQ�RODUDN�\�U�W�OPHNWHGLU��6HUPD\HVL�������������� RODQ�
6DUN�:LUH¶ D�����RUDQÕQGD�RUWDNOÕ÷ÕPÕ]�EXOXQPDNWDGÕU�

<DWÕUÕPODU

ùLUNHWLPL]��JHUHNOL�J|UG�÷��\DWÕUÕP�IDDOL\HWOHULQH������\ÕOÕQÕQ�� D\OÕN G|QHPLQGH�GH�GHYDP�HWPLúWLU��
<DWÕUÕP�IDDOL\HWOHULPL]��JOREDO�VHNW|UGHNL�\R÷XQ�UHNDEHW�RUWDPÕ�GD�GLNNDWH�DOÕQDUDN�|]HOOLNOH�NDWPD�
GH÷HUL�\�NVHN��U�QOHUH�\|QHOLN�ROPXúWXU��%X�IDDOL\HWOHU�VÕUDVÕQGD�GHYUH\H�DOÕQDQ�WHVLV�YH�PDNLQH�SDUNÕQÕQ�
HQ�VRQ�WHNQRORML\L�KDL]�ROPDVÕQD�|]HQ�J|VWHULOPLúWLU�

<DSÕODQ�\DWÕUÕPODU�LOH��U�Q�\HOSD]HPL]�JHQLúOHWLOHUHN�P�úWHUL�WDOHSOHULQH�ROXPOX�NDWNÕODU�VD÷ODQPÕú��
VR÷XWPD�YH�ÕVÕWPD�VHNW|U�QH�\|QHOLN�VDWÕúODUÕPÕ]�DUWWÕUÕOPÕúWÕU�
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$\UÕFD��oHYUH\H�VD\JÕOÕ��UHWLPL�EHQLPVH\HQ�úLUNHWLPL]GH�������������WDULKLQGHQ�LWLEDUHQ�$QRW�G|N�P�
UDILQDV\RQ�IÕUÕQÕQGD�RNVLMHQ�LOH�GR÷DOJD]�\DNPD�oDOÕúPDODUÕQD�EDúODQPÕú�YH�EDúDUÕOÕ�VRQXoODU�DOÕQPÕúWÕU�

hUHWLPLPL]H�øOLúNLQ�%LOJLOHU

6DUNX\VDQ��LúWLUDNOHUL��\DNODúÕN������RUWD÷Õ��VRV\DO�HWNLQOLNOHUL�LOH��ONHPL]LQ�LON�EDúDUÕOÕ��oRN�RUWDNOÕ�YH�
SURIHV\RQHO�\|QHWLPL�LOH�NXUXOGX÷X������\ÕOÕQGDQ�LWLEDUHQ��ONHPL]LQ�HNRQRPLN�YH�VRV\DO�KD\DWÕQD�GH÷HU�
NDWPDNWDGÕU�������\ÕOÕQÕQ�GRNX] D\OÕN�G|QHPLQGH���������WRQ RODQ�EDNÕU�PDPXOOHUL��UHWLPLPL]������¶�
OLN�DUWÕúOD������\ÕOÕQÕQ�D\QÕ�G|QHPLQGH�������� WRQ�RODUDN JHUoHNOHúWLUPLúWLU�

6DWÕúODUÕPÕ]

*HUHN�KDPPDGGHPL]��JHUHNVH��U�QOHULPL]LQ�IL\DWODUÕQÕ�EHOLUOH\HQ�/0(�GH÷HUL����������� WDULKL�
LWLEDUL\OH���������� ��WRQ�VHYL\HOHULQGH�LNHQ������� RUDQÕQGD�D]DODUDN ���������� WDULKLQGH ��������
��WRQ�ROPXúWXU��/RQGUD��0HWDO��%RUVDVÕ���/0(��¶�QGD�EDNÕUÕQ�(\O�O ���� RUWDODPD�GH÷HUL�LVH���������
��WRQ�RODUDN�JHUoHNOHúPLúWLU��

�����\ÕOÕQÕQ�GRNX] D\OÕN�G|QHPLQGH RODELOHFHN�IL\DW�GDOJDODQPDODUÕ NDUúÕVÕQGD�JHoPLú�ELOJL�YH�
GHQH\LPOHULQ�YHUGL÷L�WHFU�EH\OH�JHUHN�KDPPDGGH�DOÕPODUÕQGD�YH�JHUHNVH��U�Q�VDWÕúODUÕQGD�JHUHNOL�
NRUXQPD�HQVWU�PDQODUÕQÕQ�NXOODQÕOPDVÕ�SROLWLNDVÕ�V�UG�U�OP�úW�U͘��

���� \ÕOÕQÕQ�GRNX] D\ÕQGD�VHNW|UGH�HWNLQ�ELU�SROLWLND�L]OHQHUHN�NDOLWH\H�GD\DOÕ�IDDOL\HWOHULPL]OH�������
\ÕOÕQÕQ�D\QÕ�G|QHPLQGH�������� WRQ�RODQ VDWÕúODUÕPÕ] ����� DUWÕúOD�������� WRQ����������������� RODQ�
LKUDFDWÕPÕ]������ DUWÕúOD���������������� RODUDN�JHUoHNOHúPLúWLU��øo�VDWÕú�FLURPX]�LVH�������������� 7/�
ROPXúWXU�

���� \ÕOÕQÕQ�GRNX] D\OÕN�G|QHPLQGH�GH $YUXSD�7RSOXOX÷X��ONHOHULQH��$PHULND¶\D��$IULND�YH�2UWDGR÷X�
�ONHOHULQH�LKUDFDW�\DSÕOPÕúWÕU��

+HU�\ÕO��U�QOHULQL�\XUW�LoL�YH�\XUW�GÕúÕ�SD]DUODUGD�WDQÕWPDN�LoLQ�oHúLWOL�IXDUODUD�NDWÕODQ�ùLUNHWLPL]� �����
\ÕOÕQÕQ GRNX] D\OÕN�G|QHPLQGH DúD÷ÕGDNL�IXDUODUD�NDWÕOPÕúWÕU��

<XUW�'ÕúÕ�)XDUODU

���± ���ùXEDW�������0LGGOH�(DVW�(OHFWULFLW\���'XEDL
�� ± �� 0D\ÕV ���� ,QWHUZLUH����� ��$WODQWD�$%'

<XUW�øoL )XDUODU

�� ± �� 1LVDQ ���� ��.DEOR�YH�7HO�)XDUÕ���&15�([SR�&HQWHU�<HúLON|\�ø67$1%8/
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%DúOÕFD�5DV\RODU ������� �������

/LNLGLWH

&DUL�2UDQ��'|QHQ�9DUOÕNODU���.ÕVD�9DGHOL�
<�N�PO�O�NOHU���

���� ����

/LNLGLWH�2UDQÕ��'|QHQ�9DUOÕNODU�± 6WRN���.ÕVD�
9DGHOL�<�N�PO�O�NOHU���

���� ����

)LQDQVDO�<DSÕ�2UDQODUÕ

7RSODP�<�N�PO�O�NOHU���g]ND\QDNODU�� ���� ����

.ÕVD�9DGHOL�<�N�PO�O�NOHU���9DUOÕNODU�7RSODPÕ�� ���� ����

6DWÕú�.kUOÕOÕ÷Õ ���

9HUJL�gQFHVL�.kU���6DWÕú�*HOLUOHUL�� ���� ����

hU�QOHULPL]
��%DNÕU�.DWRW
��(OHNWUROLWLN�%DNÕUGDQ�
��dXEXNODU
��)LOPDúLQOHU
��0XKWHOLI�oDSODUGD�WHOOHU
��<DVVÕ�WHOOHU��oÕSODN�YH�L]ROHOL�
��3URILOOHU
��.DOD\�NDSOÕ�WHOOHU
��1LNHO�NDSOÕ�WHOOHU
��'HPHW�YH�E�N�PO��WHOOHU
��5RSH��+DODW��|UJ�O��WHOOHU
��dXEXN
��<DVVÕ�WHOOHU
��3URILOOHU
��%DNÕU�%RUX��\LYOL�YH�\LYVL]�
��%DNÕU�/DPD��oÕSODN�YH�NDOD\�NDSOÕ�
��*�P�ú�$ODúÕPOÕ�(OHNWUROLWLN�%DNÕUGDQ
��dXEXN
��<DVVÕ�WHOOHU
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øQVDQ�.D\QDNODUÕ

ùLUNHWLPL]LQ������������WDULKL�LWLEDUL\OH�SHUVRQHO�PHYFXGX�øWDO\D�7HPVLOFLOL÷LPL]�GDKLO���� NLúLGLU��
%XQXQ����¶X�EH\D]�\DNDOÕ�����¶VL�LVH�PDYL�\DNDOÕ�SHUVRQHOGLU�

ùLUNHWLPL]LQ��\HVL�ROGX÷X�7�UNL\H�0HWDO�6DQD\LFLOHUL�6HQGLNDVÕ��0(66��LOH�LúoLOHULPL]L�WHPVLO�HGHQ�
%LUOHúLN�0HWDO�øú�6HQGLNDVÕ�DUDVÕQGD�����������������������G|QHPLQL�NDSVD\DQ�WRSOX�Lú�V|]OHúPHPL]�
\�U�UO�NWH�EXOXQPDNWDGÕU�

ùLUNHWLPL]LQ������������WDULKL�LWLEDUL\OH�NÕGHP�WD]PLQDWÕ�\�N�PO�O�÷�������������� 7/�ROXS��WDPDPÕ�
LoLQ��NDUúÕOÕN�D\UÕOPÕú�GXUXPGDGÕU�

3HUVRQHOLPL]H�\DVDGDQ��WRSOX�V|]OHúPHGHQ�YH�SHUVRQHO�\|QHWPHOL÷LQGHQ�GR÷DQ�VRV\DO�KDNODUÕ�G�]HQOL�
RODUDN�VD÷ODQPDNWDGÕU�

ùLUNHWLPL]LQ�VRV\DO�IDDOL\HWL�NDSVDPÕQGD�ROPDN��]HUH��VSRU�GDOÕQGD�PDVD�WHQLVL�WDNÕPÕPÕ]�LOH�WDPDPÕ�
SHUVRQHOLPL]GHQ�ROXúDQ�7�UN�6DQDW�0�]L÷L�.RURPX]�YH�GDQV�JUXEXPX]�EXOXQPDNWDGÕU�

<DSÕODQ�%D÷Õú�YH�<DUGÕPODU� 7/

6DUNX\VDQ�/LVHVL ��*HE]H ���������

)DUDEL�'HYOHW�+DVWDQHVL���'DUÕFD ���������

6DUNX\VDQ�øON|÷UHWLP�2NXOX���'DUÕFD ���������

.RFDHOL�6DQD\L�2GDVÕ
��$IULND�$oOÕN�)HODNHWL�<UG��.DPSDQ\DVÕ�� ���������

7�&��.RFDHOL�9DOLOL÷L
�$IULND�$oOÕN�)HODNHWL�<UG��.DPSDQ\DVÕ�� ���������

*(6ø$'�*HE]H�6DQD\LFL�YH�øú�$GDPODUÕ�'HUQH÷L ��������

øVWDQEXO¶�GDNL�0DUGLQOLOHU�'HUQH÷L ��������

.$6(9�.DGÕN|\�6D÷OÕN�(÷LWLP�0HUNH]L�9DNIÕ ��������

$,(6(& ��������

7�UNL\H�(÷LWLP�*|Q�OO�OHUL�9DNIÕ ��������

'L÷HU ��������

7R S O D P ����������



6$5.8<6$1�(/(.752/ø7ø.�%$.,5�6$1$<ø�9(�7ø&$5(7�$�ù�
6D\ID��

6(5ø�;,�12����6$<,/,�7(%øö(�ø67ø1$'(1�+$=,5/$10,ù�
���������� ± ���������� 'g1(0ø1(�$ø7�<g1(7ø0�.858/8�)$$/ø<(7�5$3258

.XUXPVDO�<|QHWLP�øONHOHULQH�8\XP�5DSRUX

<|QHWLP�.XUXOXQXQ�<DSÕVÕ��2OXúXPX�YH�%D÷ÕPVÕ]�h\HOHU

+D\UHWWLQ�d$<&, <|QHWLP�.XUXOX�%DúNDQÕ øFUD�.RPLWHVL�%DúNDQÕ

)XDW�68&8 <|QHWLP�.XUXOX�%DúNDQ�9HNLOL øFUD�.RPLWHVL�%DúNDQ�9HNLOL

.|NVDO�$+,6.$ <|QHWLP�.XUXOX�h\HVL

0DNVXW�8581 <|QHWLP�.XUXOX�h\HVL øFUD�.RPLWHVL�h\HVL

+DPLW�0h&(//ø7 <|QHWLP�.XUXOX�h\HVL øFUD�.RPLWHVL�h\HVL

$��+DPGL�%(.7$ù <|QHWLP�.XUXOX�h\HVL

$\NXW�0(1(7/ø2ö/8 <|QHWLP�.XUXOX�h\HVL

'LGHP�(5.$1 <|QHWLP�.XUXOX�h\HVL

6HPLK�<$5',0 <|QHWLP�.XUXOX�h\HVL

<|QHWLP�.XUXOX�h\HOHUL�LOH�úLUNHWLPL]�YH\D�LúWLUDNOHULPL] DUDVÕQGD�WLFDUL�LOLúNL\H�GD\DOÕ�PHQIDDW�ED÷Õ�
\RNWXU�

<|QHWLP�.XUXOXQGD�2OXúWXUXODQ�.RPLWHOHULQ�6D\Õ��<DSÕ�YH�%D÷ÕPVÕ]OÕ÷Õ

��øFUD�.RPLWHVL

+D\UHWWLQ�d$<&, <|QHWLP�.XUXOX�%DúNDQÕ øFUD�.RPLWHVL�%DúNDQÕ

)XDW�68&8 <|QHWLP�.XUXOX�%DúN��9HNLOL øFUD�.RPLWHVL�%DúN��9HNLOL

0DNVXW�8581 <|QHWLP�.XUXOX�h\HVL øFUD�.RPLWHVL�h\HVL

+DPLW�0h&(//ø7 <|QHWLP�.XUXOX�h\HVL øFUD�.RPLWHVL�h\HVL

��'HQHWLPGHQ�6RUXPOX�.RPLWH

)XDW�68&8 <|QHWLP�.XUXOX�%DúN��9HNLOL h\H

+DPLW�0h&(//ø7 <|QHWLP�.XUXOX�h\HVL h\H

��.XUXPVDO�<|QHWLP�.RPLWHVL

+DPLW�0h&(//ø7 <|QHWLP�.XUXOX�h\HVL %DúNDQ

(PLQH�*h1'$ö 7LFDUL�0XKDVHEH�0�G�U� h\H

5Õ]D�<(ù(5(1 +LVVHGDUODU�ùHIL h\H
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$\UÕFD�J�QGHPGH�\HU�DODQ�KHUKDQJL�ELU�NRQXGD�<|QHWLP�.XUXOX¶QXQ�JHUHN�J|UPHVL�KDOLQGH��EX�NRQX�LoLQ�
JHoLFL�ELU�NRPLWH�ROXúWXUDELOPHNWHGLU�

ùø5.(7ø0ø=�7$5$),1'$1�9(5ø/(1�7(0ø1$7���5(+ø1���ø327(./(5��75ø�

$��ùLUNHWLPL]�$GÕQD�9HULOPLú�2ODQ�75ø
�OHU�

7XWDU��7/�

%�\�N�0�NHOOHIOHU�9HUJL�'DLUHVL�%DúNDQOÕ÷Õ �����������

7�&��%DúEDNDQOÕN�*�PU�N�0�VWHúDUOÕ÷Õ ���������

6('$ù�*HE]H�øúOHWPH�0�G�UO�÷� �������

'L÷HU ������

7RSODP �����������

%��7DP�.RQVROLGDV\RQ�.DSVDPÕQD�'DKLO�(GLOHQ�2UWDNOÕNODU�/HKLQH�9HULOPLú�2ODQ�75ø
�OHU�

7XWDU��7/�

%HNWDú�%DNÕU�(PD\H�.DEOR�6DQD\L�YH�7LFDUHW�$�ù� �����

6DUPDNLQD�6DQD\L�YH�7LFDUHW�$�ù� ���������

6DUN�:LUH�&RUSRUDWLRQ ����������

7RSODP ����������

*(1(/�723/$0 �����������

øOHWLúLP

0HUNH]
$GUHV � (PHN�0DKDOOHVL�$úÕUR÷OX�&DGGHVL�1R������

������'DUÕFD���.2&$(/ø
7HOHIRQ�� ����������������������KDW�
)DNV� � �����������������

�����������������
�����������������

(�PDLO � LQIR#VDUNX\VDQ�FRP
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)DEULND
$GUHV � 2VPDQJD]L�7UHQ�øVWDV\RQX�.DUúÕVÕ�

������*HE]H�� .2&$(/ø��
7HOHIRQ�� ���������������������+DW��

���������������������+DW�
��������������������+DW�

)DNV � ����������� �����
�����������������

(�PDLO ��SODQW#VDUNX\VDQ�FRP�

6DWÕú�0D÷D]DVÕ
$GUHV ��3HUSD�øú�0HUNH]L��$�%ORN

���YH�����.DW��1R���������
������2NPH\GDQÕ ��ùLúOL�ø67$1%8/

7HOHIRQ�����������������������+DW�
)DNV �������������������
(�PDLO�VNVSHU#VDUNX\VDQ�FRP

ùXEH
(JH�6HUEHVW�%|OJH�ùXEHVL
$GUHV� ��(JH�6HUEHVW�%|OJHVL�1LO�IHU�6RN��1R�����*D]LHPLU��ø=0ø5
7HO �������������������

�����������������
)DNV� �������������������
(�PDLO �VNVHJH#VDUNX\VDQ�FRP

7HPVLOFLOLN

6$5.8<6$1�6�3�$�
$GUHV ��9LD�&DUDFFLROR���

�����0LODQR�,7$/,$
7HO �������������������
)DNV �������������������
(�0DLO��LWDOLD#VDUNX\VDQ�FRP

øúWLUDNOHU�YH�%D÷OÕ�2UWDNOÕNODU

'HPLVDú�'|N�P�(PD\H�0DPXOOHUL�6DQD\L$�ù�
0HUNH]
$GUHV ��(PHN�0DK��$úÕUR÷OX�&DG��1R����

������'DUÕFD �.2&$(/ø
7HO ���������������������SE[�
)DNV �������������������
ZZZ�GHPLVDV�FRP�WU
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)DEULND
$GUHV ��9H]LUKDQ�%HOGHVL�%LOHFLN

3�.�������
7HO �������������������
)DNV �������������������
(�PDLO ��LQIR#GHPLVDV�FRP�WU

6DUGD�'D÷ÕWÕP�YH�7LFDUHW$�ù�
$GUHV � %DQNDODU�&DG��øOHWLP�ùDUN�+DQ�1R����.DW�����

������.DUDN|\
%H\R÷OX���øVWDQEXO

7HO ���������������������SE[�
)DNV� �������������������
(�PDLO ��VDUGD#VDUNX\VDQ�FRP

6DUPDNLQD 6DQD\L YH�7LFDUHW$�ù�
0HUNH]��)DEULND
$GUHV ��6ÕUDV|÷�WOHU�0DK��dHOLNR÷OX�&DG���������6RN��1R����

������'DUÕFD���.2&$(/ø
7HO ���������������������SE[�
)DNV �������������������
(�PDLO ��LQIR#VDUPDNLQD�FRP�WU
ZZZ�VDUPDNLQD�FRP�WU

%HNWDú�(PD\H�.DEOR�6DQD\L YH�7LFDUHW$�ù�
$GUHV ��(PHN�0DK��$úÕUR÷OX�&DG��1R����� ������'DUÕFD���.2&$(/ø
7HO �������������������
)DNV �������������������
(�PDLO ��EHNWDVHPD\H#VDUNX\VDQ�FRP�

6DUN�� 86$��,QF�
$GUHV ������,QGXVWULDO�3DUN�5RDG�$OEDQ\��1<�������86$
7HO ������������������
)DNV ������������������
(�PDLO ��PDUNHWLQJ#VDUN�XVD�FRP
ZZZ�VDUN�XVD�FRP

6DUN�:LUH�&RUSRUDWLRQ
$GUHV ������,QGXVWULDO�3DUN�5RDG�

$OEDQ\��1<�������86$
7HO ������������������
)DNV ������������������
(�PDLO ��PDUNHWLQJ#VDUN�XVD�FRP
ZZZ�VDUNZLUH�FRP


